Sample Data

Table Name Data
employee ename street city
Barkat X Bogra
Jabbar X Comilla
Jubayer u Faridpur
Najmun Nahar y Sylhet
Oronno z Dhaka
Rafique z Rajshahi
Rahim w Dhaka
Sabbir % Chittagong
Salam y Comilla
Sharafat w Dhaka
works ename chame salary jdate
Rahim First Bank Corporation 50000 2008-01-01
Barkat First Bank Corporation 40000 2007-01-01
Salam First Bank Corporation 60000 2009-07-01
Rafique Small Bank Corporation 30000 2009-06-08
Sharafat First Bank Corporation 80000 2005-06-01
Jabbar Small Bank Corporation 10000 2009-06-05
Najmun Nahar Small Bank Corporation 20000 2009-06-30
Oronno The ONE Limited 50000 2007-06-01
Jubayer Square Pharma 15000 2008-01-01
Sabbir Vegabond Company 100000 2001-01-01
comparny
Anonymous IT Chittagong
Dream Tech Chittagong
First Bank Corporation Dhaka
JONS IT (Pvt.) Limited Sylhet
Small Bank Corporation Dhaka
Square Pharma Bogra
The ONE Limited Dhaka
Unique Softs Dhaka
Unknown Systems Rajshahi
Vegabond Company Bogra
manages
Rahim Sharafat
Barkat Sharafat
Salam Sharafat
Rafique Oronno
Jabbar Oronno
Najmun Nahar  Sabbir
Jubayer Sabbir
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employee _(enamstreet, city)
works (enamecname salary, jdate)

company (chameeity)
manages_(enamenname)
1. Find the names of all employees who work for FirsBank Corporation.

SQL: sel ect ename fromworks wher e cname 'First Bank Corporation' ;
RA: 11 ename(0 cname = "First Bank Corporatiod WOTKS))

2. Find the names and cities of residence of all emplees who work for First Bank Corporation.

SQL: sel ect ename, city fromemployee natural | oinworks
wher e cname 'First Bank Corporation’ ;

RA: Il ename, city(6 cname = "First Bank Corporatior('employeem works))

3. Find the names, street address, and cities of regidce of all employees who work for First
Bank Corporation and earn more than Tk. 30000.

SQL: sel ect ename, street city fromemployee natural joinworks
wher e cname 'First Bank Corporation’ and salary > 30000;

RA: 11 ename, street, citf@ cname = "First Bank Corporation‘salary > 3000d€Mmployeex| works))

4. Find names, street addresses and cities of residenaf all employees who work under manager
Sabbir and who joined before January 01, 2009.

SQL: sel ect ename, street city
fromemployee natural joinworks natural join manages
wher e mname ‘Sabbir' and jdate ‘01 - JAN- 09}

RA: 1II ename, street, cit§0 mname = "SabbirA jdate < “01-jan-09‘(em ployeexl WOI’kS[X] manages))

5. Find the names of all employees in this database whive in the same city as the company for
which they work.
SQL: sel ect ename fromemployee natural joinworks natural joincompany;

RA: I ename(employeex worksp company)

6. Find the names of all employees who live in the santity and on the same street as do their
managers.

SQL: sel ect employee . ename fromemployee natural join manages, employee as emp
wher e mname = emp. ename and employee . street emp . street  and employee . city emp . city ;

RA: I empioyee.ename

(G mname = emp.enanfeemployee.street = emp.stréeemployee.city = emp.cit&employeax] manages p emp (employee)))
7. Find the names of the employees living in the sanegy where Rahim is residing.

SQL: sel ect ename fromemployee wher e city (
sel ect city fromemployee where ename 'Rahim'’
).

RA: t«1II city (0 ename = "Ranim(€Mployee))
IT ename(€Mployeéex t)
8. Find the names of all employees in this database wiilo not work for First Bank Corporation.

SQL: sel ect ename fromworks wher e cname 'First Bank Corporation' ;

RA: I ename(S cname: "First Bank Corporation(WOTKS))
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employee_(enamstreet, city)
works (enamecname salary, jdate)

company (chameeity)
manages_(enamenname)

9. Find the names of all employees who earn more thaevery employee of Small Bank
Corporation.

SQL: sel ect ename fromworks wher e salary (
sel ect nax(salary ) fromworks where cname 'Small Bank Corporation’
)i

RA: t« 9 max(salary asmax_salary(6 cname- "Small Bank Corporation(WorkS))
IT ename(C salary- max_salary(WOrKS X 1))

OR, t1 < II works.salary(C works.salary w.salary and w.cname = "Small Bank CorporatiWOrks X p y (WOrks)))
t2 —1II salary(6 w.cname = "Small Bank Corporatioﬁworks))_ t1
IT ename(0 works.salary- t2.salary(WOIKS % 12))

10.Find the names of all employees who earn more thamany employee of Small Bank
Corporation.

SQL: sel ect ename fromworks wher e salary (
sel ect min(salary ) fromworks where chame 'Small Bank Corporation’
)i

RA: t <« G min(salary asmin_salary(G cname- "Small Bank Corporation{WOIKS))
IT ename(0 salary- min_salary(WOrks x t))

OR, t1 —1II works.salary(6 works.salary- w.salary and w.cname = "Small Bank CorporatiGV]VorkS XPw (WOI’kS)))
b1 salary((s w.cname = "Small Bank Corporatioﬁworks))_ th
I1 ename(6 works.salary t2.sa|ary(W0rka t2))

11. Assume the companies may be located in several egi Find all companies located in every city
in which Small Bank Corporation is located.

SQL: sel ect cname fromcompany wherecity in (
sel ect city fromcompany where cname 'Small Bank Corporation'
)
RA:  city < IT city (6 cname- "Small Bank Corporation{(COMpany))
IT chame(COmMpanyiq city)

OR, II cname(com pany- (H city (6 chame= "Small Bank Corporation(com pany))))
12.Give all employees of First Bank Corporation a 10 @rcent salary raise.
SQL: updat e works  set salary salary * 1.1 wher e cname 'First Bank Corporation' ;

RA: t < II ename, cname, salary * 1.1, jdd®@ cname = “First Bank CorporatiolWOIKS))

Works<«— t U (WOrks —6 cname = "First Bank Corporatiof WOIKS))

13.Give all managers in the database a 10% salary rass

SQL: updat e works set salary salary * 1.1 wher e ename in (
sel ect distinct mname frommanages
)i

RA: t1 —1II works.ename, cname, salary, jde(@ works.ename mname(WOkax manages»
L1 works.ename, cname, salary * 1.1, jdﬂé)

works«— (works —f) U t,
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employee _(enamstreet, city)
works (enamecname salary, jdate)

company (chameeity)
manages_(enamenname)

14.Give all managers in this database a 10 percent say raise, unless the salary would be greater
than Tk.100,000. In such cases, give only a 3 penteaise.

SQL: updat e works  set salary case
when salary 1.1 100000 then salary * 1.03
el se salary 1.1
end

where ename in (
sel ect distinct mname frommanages

RA: t1 —1II works.ename, cname, salary, jde(@ works.ename mname(WOrksx manages))
t2 «—1II works.ename, chame, salary * 1.03, jdéﬁztl.salary *1.1> 10000@1))

t2 — t2 U (H works.ename, chame, salary * 1.1, jdﬁfétl.salary *1.K lOOOOO(tl)))
works«— (works —f) U t,

15.Increase the salary of employees by 10% for the cqranies those are located in Bogra.

SQL: updat e works set salary salary * 1.1 wher e chame in (
sel ect cname fromcompany wher e city '‘Bogra’
)i

RA:  t1 < II ename, cname, salary, jda(t@ city = "Bogra” (worksX company))
t2 —1II ename, chame, salary * 1.1, jdz(tti)

works«— (works —f) U t,

16.Modify the database so that Rahim now lives in Bhal
SQL: updat e employee set city '‘Bhola’  wher e ename 'Rahim' ;

RA: t«1II ename, street, "Bhola(‘6 ename- "Rahim" (emp|0yee))

WOrks <« (Works — 6 ename- "ranim*(€mployee))J t

17.Delete all tuples in theworksrelation for employees of Small Bank Corporation.
SQL: del ete fromworks where cname 'Small Bank Corporation’ ;
RA: works«— works — (5 chame- "Small Bank Corporation(WorkS)))

18. Delete records fromworksthat contain employees living in Rajshahi.

SQL: del ete fromworks where ename in (
sel ect ename from employee wher e city 'Rajshahi’
)i

RA: t« II ename(S city - "Rajshan(€mployee)))
WOrks «— WOrks —II ename, cname, salary, jdd¥Orksi t)

19. Display the average salary of each company excepfugare Pharma.

SQL: sel ect cname, avg(salary ) fromworks where cname 'Square Pharma’ group by cname;

RA:  chamdG avgsalary (G cname: "Square Pharma(WOTKS))
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employee _(enamstreet, city)
works (enamecname salary, jdate)

company (chameeity)
manages_(enamenname)

20.Find the company with the most employees.

SQL: sel ect cname, count (distinct ename) from works group by cname
havi ng count (di stinct ename) al | (
sel ect count(distinct ename) from works group by cname
)

RA: t; « cnamé§ count/ename asnum_employeesiworks)

o — g max num_employeesasnum_employees(tl)

II cname(tl [X] t2)
21.Find the company that has the smallest payradll [Similar to query 20

SQL: sel ect cname, sun(salary ) from works group by cname
havi ng sun{salary ) al I (
sel ect sun{(salary ) from works group by cname
)

RA: 11 < cnamdj sumsalary aspayroll (WOTKS)
o — Gmin payroll) aspayroll (tl)

II cname(tl [X] tz)

22.Find the company with payroll less than Tk. 100000.
SQL: sel ect cname, sun(salary ) from works group by cname having sun(salary ) < 100000 ;

RA. t« cnamé§ sum(salary (WOI’kS)
II cname(G payroll 100000([) c_payroll (cname, payroll(t)))

23.Find those companies whose employees earn a highsalary, on average, than the average
salary of Small Bank Corporation.

SQL: sel ect cname fromworks group by cname
havi ng avg(salary ) >(
sel ect avg(salary )
f r omworks
wher e chname = 'Small Bank Corporation'

);
RA: 11 < cnamdF avgsalary (WOrks)
t2 < 6 cname = "small Bank Corporatior('tl)
II t3.cname(0' t3.avg_salary > small—bank.avg_sala(lg t3 (cname, avg_salar)()tl) X P small-bank (cname, avg_salar@Z)))

! Payroll: The total amount of money paid by a company argébr all the employers.
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